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L /x = 30°
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/x=180°-70°=110°
£y =180°-130° =50°
Lx— /Ly =110°-50°=60°
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@ 150° @ 140° @ 130° @)120° ® 110°

70° + 30° + /.DBC + 20° + /DCB = 180° ¢|2 &
(DBC + /DCB = 60°
oo Zx = 180° — 60° = 120°
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@)so° @ 85° ® 90° @ 95° ® 100°

45°4(180°—130°)+ £x+(180°-125°) +45°+(180°-95°) = 360°
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whabA 2x = 80° o]tk
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ABCEFG 9] HzZ}te] 37]9] 32 720° o| B2

130° + 95° + 87° + /x + Zy + 40° 4 120° + 105° = 720°

LoLx A+ Ly = 143°

ADCE 94 /CDE = 180° — 143° = 37°
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5
527 X 5 + 27 x5 = 157( cm)
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AOAB, AOBC, AOCA & Z}7} o] S A ZIg ot
L/OAB = x, /OCA =y, /OBC =50°

A7k o] Wizhe] ghe] A o siA

2(x +y+50°) = 180°

L x+y=40°
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. B+ +C = /DAE + /tEAC = /DAC
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A E
B C
@ /DAE, tEAC, /B @ADAE, (EAC, (EAC
® (EAC, /B, /B @ /ABC, tEAC, /B

® ¢ABC, /EAC, /EAC

/B = (DAE(EHH), .C = LEAC(AH)




26. S 19 AABC A /B ¢} /C 9 o] 5EAe wAHL T =
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@® 160° @ 165° ® 175° @ 185° @195°
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2(«DBC + /ECB) + 50° = 180°

. /DBC + /ECB = 65°

/ADI + /AEI = (+DBC + 2/ECB) + (2/DBC + (ECB) =
3(/DBC + (ECB) = 3 x 65° = 195°
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Hol)=4x (8x2) +nx22 =4x+ 64 (cm?)
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@® 100° @ 120° @ 240° @360° ® 480°
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Lla+ b+ Lo+ Ld+ Le+ Lf = Lx+ Lyl + Le+ Lf = 360°
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